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BIOLOGY SSC-II
SECTION — A (Marks 12)

Time allowed: 20 Minutes

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
it should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct option i.e. A/ B/ C/ D. Each part carries one mark.

(D Which of the following is not a bad effect of smoking?
A Weakening of teeth B. Arteriosclerosis
C. Kidney stones D. Cancer in kidneys and bladder
(i) Chest wall is made up of ribs. The number of ribs in humans is:
A 12 B. 24 C. 36 D. 48
(i) The correct route of urine from distal convoluted tubules to bladder is:
A Papillary duct — Collecting duct — Ureter — Pelvis
B. Collecting duct — Papillary duct — Ureter — Pelvis
C. Papillary duct — Collecting duct — Pelvis — Ureter
C. Collecting duct — Papillary duct — Pelvis — Ureter
{iv) Sympathetic and Para sympathetic nervous systems are responsible for the activities which can not be
controlled consciously. These two systems comprise of:
A Sensory nerves pathway B. Motor nerves pathway
C. Somatic nervous system D. Autonomic nervous system
(v} Table below shows some hormones and their functions. Which hormone does not match with its function?
Hormone Function
A Vasopressin increases absorption of water from nephron
B. Calcitonin decreases level of Co™ in blood
C Parathormone increases level of Ca'* in blood
D. Insulin increases blood giucose concentration
{vi) Hinge joint is present in:
A. Neck B. Knee C. Hip D. Shoulder
{vii) Suckers are:
A Lateral stems close to ground
B. Horizontal underground stem with scale leaves
C. Short and swollen underground stems
D. Short underground stems surrounded by thick fleshy leaves

(vili) Synthesis of an RNA molecule from a DNA template is known as:

A Transcription  B. Translation C. Replication D. Genetic recombination
{ix) If a cross follows Mende!'s law of independent assortment, it results in phenotypic ratio:

A 3.1 B. 1:2:1 C. 9:3:3:1 D. 1:1
%) A biclogical process in which nitrates and nitrites are reduced to nitrogen gas by bacteria is called:

A Nitrogen fixation B. Ammonification

C. Nitrification D. Denitrification
{xi) For the production of single cell proteins, the microorganisms are grown in:

A Refrigerators B, Fermenters C. Ovens - D. Incubators

{xii) Which of the following should NOT be done while taking medicines for the treatment of a disease?

Always check the expiry date on medicine pack
Never take medicine prescribed for someone else
Do not take medicines in dark

Use of antibiotics can be discontinued at any time
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Time allowed: 2:40 Hours Total Marks Sections B and C: 53

NOTE: Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION — B (Marks 33)

Q.2 Answer any ELEVEN parts. The answer to each part should not exceed 3 to 4 lines. (11 x 3 =33)
(i) a. How does gaseous exchange occur in leaf cells during day time?
b. What is the importance of C — H bonds of food?
(i) Name the parts of nephron?
(iii) What is the role of skin in maintenance of homeostasis?
(iv) Cifferentiate between receptors and effectors.
(V) Define the following terms:
a. Saltatory impulse b. Cerebellum C. Rhodopsin

(vi) Why the Biceps and the triceps are called as antagonistic muscles?
(vil) Name and define the three types of Arthritis.

(viii)  Enlist the advantages of vegetative propagation in plants.

(ix) Draw flow sheet diagrams to show the process of gametogenesis in animals.
(x) Write a short note on co-dominance.
(xi) Write only one difference between following terms:

a.  Continuous and discontinuous variations

b. Homozygous and heterozygous

¢. Gene and allele
(xii) What is meant by Acid Rain? Write any two ill effects of it.
(xiti) How are decomposers important in ecosystem?
(xiv) Write some applications of fermentation.

(xv) Briefly describe the mode of action of vaccine in the body.

SECTION — C {(Marks 20)

Note: Attempt any TWO questions. All questions carry equal marks. (2x10=20)
Q.3  Explain the structure and working of Human Air Passageways and the lungs. (10)
Q.4 a Write a detailed note on Cartilage. {06)
How dose Binary fission occur in Amogba? (04)
Q.5 a Describe the Watson and Crick Model of DNA. (05)
Write a note on Symbiosis. (05)
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BIOLOGY SSC-Ii
SECTION - A (Marks 12)

Time allowed: 20 Minutes

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct option i.e. A/ B/ C / D. Each part carries one mark.

For Examiner’s use only:
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- (i) Trachea or windpipe is a long tube which lies in front of:
n A Larynx B. Oesophagus C. Stomach D. Heart
- (ii} Asthma is caused by:
. A Virus B. Bacteria C. Allergens D. Fungt
(iii}) Renal corpuscle is a part of nephron. It consists of:
. A. Glomerulus and Loop of Henle B. Bowman’s capsule and convoluted tubule
] C. Bowman's capsule and Glomerulus D. Glomerulus and convoluted tubule
(iv) In chemical coordination, endocrine glands secrete chemicals which arefis:
- A Hormones B. Enzymes C. Nerve impuise D. Blood
. (V) Which?of the following shows changes occurring in ciliary muscles and lens of eye while seeing a distant
[ ] ohleet Ciliary Muscles Shape of lens
A Relax More convex and round
. B Relax Less convex and elongated
. C. Contract More convex and round
. D Contract Less convex and elongated
(vi) The number of vertebrae in human vertebral column is:
o A 29 B. 3 C. 33 D. 37
. (vii) Which of the following is true about parthenogenesis”?
- A An unfertilized egg develops into new offspring
B. Specialized group of cells develop into new individuals
. C. An organism is first a male and then a female
. D. An individuat may change its sex during its lifetime
(viii) In a DNA molecule, Adenine always forms pair with:
. A Another Adenine B. Guanine
] C. Thymine D. Cytosine
(Ix) Which of the following is not an exampie of continuous variation?
. A Feet size B. Intelligence C. Weight D. Blood group
. (x) Parasitic plants grow special types of roots into host body to suck the nutrients. These roots are called as:
. A Rhizoids B. Haustoria C. Lenticels D. Succulent organs
(xi) In alcoholic fermentation, Pyruvic acid breaks into ethanol and:
u Al Lactic acid B. Acetaldehyde C. Giucose D. Carbon dioxide
. (xil) Which of the following narcotics are derived from opium (Poppy)?
A Marijuana and Codeine B. Morphine and Psilocin
. C. Morphine and Codeine D. Psilocin and Mescaline
|
n
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|
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BIOLOGY SSC-li

Total Marks Sections B and C: 53

NOTE:

Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

Q.2

Note:

Q.3

SECTION — B {Marks 33)

Answer any ELLEVEN parts. The answer to each part should not exceed 3 to 4 lines. (11 x 3= 33)

(i)

(xit)

(xili)

(xiv)

a. How are lungs adapted for gaseous exchange?

b. What is meant by double pneumonia?

Differentiate between exhalation and inhalation.

Briefly describe the osmoregulatory function of Kidneys.

Write down the characteristics of a bene.

Name and define the three types of neurons.

Define the following terms:

a. Pressure filtration b. Cornea C. Myopia
Pancreas has two functions in the body. Give your comments.

How does budding occur in yeast?

What is double fettilization? Give its significance.

Name the parts of female reproductive system of rabbit. Also write the function of each.
Write the steps involved in DNA replication.

Write only one difference between following terms:

a. Food chain and food web

b. Dominant and recessive allele

c. Transcription and transfation

What is meant by Eutrophication? How is it caused?

Write the basic steps involved in Genetic Engineering.

Classify the drugs on the basis of their chemical properties and mode of action. Give one example of
each.

SECTION - C (Marks 20)

Attempt any TWO questions. All questions carry equal marks. (2 x10 = 20)

Explain the structure and function of human Ear. : (10)

a.
b.

Write a detaited note on Kidney Failure. (07)

Enlist the advantages of using fementers. (03)

Define and explain the Law of independent assortment. (10)
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